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How many values of z in the inferval [0, 2] satisfy
sin(2r) = 07

B) 5
E) 1

o]




image7.png
A)
D)

If fz) =

is the valne of (f

1

None of the other answers are correct

Ty
2
(=

) -

" nd glx) =
~ (g(x))?

then what

B)
E)




image8.png
A)
D)

10

Evalnate logyo(4) + log;o(5) — logyo(2).
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The inequality helds for all = € R.
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Complete the square of the quadratic polynomial % —
5z 4+ 7. That is, find two real numbers a and b such that
this polynomial cquals (z — a)2 +b.

B)

E)





image3.png
5
A circle A has a cireumference of = em. The radius of
7
a circle B is 1 em longer than the radins of A. What is
the circumference of B?
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Which of the following graphs is the graph of the fime-
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tion f(z) =z + ~7
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